Hesx 4  RETREE
AER:fF248A11H

&2 AEBH A=
Tm 50cm Ocm

1 TEEHIRAK<TR 0.110 0.124 0.168
2 REEIRAKIRD 0.074 0.066 0.074
3 REEFRAKIRQ 0.072 0.076 0.078
4 REZFREVLD 0.064 0.076 0.084
5 REZFIRELQ 0.072 0.076 0.080
6 REZFRRELQ 0.066 0.072 0.094
7 REFIRELD 0.078 0.072 0.094
8 WEREEERRE LD 0.070 0.062 0.068
9 WEEEERIRE O 0.074 0.076 0.064
10 |EEERREND 0.062 0.078 0.108
11 | EEERRENO 0.092 0.092 0.210
12 |E@E*%MHA 0.074 0.080 0.094

&XE 0.110 0.124 0.210

=/ME 0.062 0.062 0.064

FHiE 0.076 0.079 0.101




